9:00

10:00

11:00

12:00

13:00

14:00

15:00

R+ EEERES - KT ERESEK | FHIESHERXR
98148 (+ 9815H(R) 9816H(A)
£12 ; BB EXEEEE 215 ; FHREERKT—1L 215 ; FRREEREKT— 1
EMELE <SR
HEEGRT

<XBRBE>

HHEE <EK>
R G

CXEPRFEE >

KEZESEIBE<ERE>
RS AT
KEBKT—IL>

K ERSEIEE <EH>

A G
KESREAKT—IL>

- KDER EEHBHLIE (609)
- ek e BEEe (609) - 3B (1209)
* 1204

RE8 %N K58

ERWE <Ef - RE>
HEIB

CRFBE>

KERSEIEE <EH>

KZIEY <FE>
EEGPT
KEE>

SlE iz (109
FHRAFREEICONT (209)

mE ST
KBSENKT—IL>

- ek E B RE (409)
- ZeEBERER (309)

KERSEIER <EHK>

BEG
KESRAKT—IL>

- %8 (1309)

- KOER ESEHEHIE (409 \ N s,
" - (40%) - $5Bh (170%) -
- ke BORERE (409)
16:00
THEEIE L EBER (60%)
- HBh (404)) ERRE
oaFY (209) KEENT—IL>
* 2309
17:00 7
2ieE Bk
KESEAKT—IL>
18:00

ErEisE - 2400

- K EREFEMBNEBMR] : 8400 (FRI230% - EH610%)




